SCZ72V-34KH (Cheetah) (S/N H8100001-H8199999) : SCZ Electrical System 2

o w
| g 5 3
@ 5 Y «©
- Y ..H o
o =
1 = '/ O/Wﬂ.ﬁl
= 2 Lot
P
\

Eﬂ
TARTER

|

l/SO

Page 1 of 2



SCZ72V-34KH (Cheetah) (S/N H8100001-H8199999) : SCZ Electrical System 2

Page 2 of 2

Ref # Part Number Qty. Description

1 484098 Pulley, 5.80 Dia. - 1.125 Bore

2 04063-23 Key, 1/4 x 1/4 x 3-1/4"

3 461661 Electric Clutch w/Tag (GT-3.5)

3 461826 Electric Clutch w/Tag (GT-5) - 72V

4 452157 Weldment, Anti-Rotation

5 482543 Wire Harness Adapter, Kawasaki

5 482849 Wire Harness Adapter, Briggs & Stratton
5 484078 Wire Harness Adapter, Kohler

6 484724 Wire Harness, SCZ

7 483958 Diode, 600V - 6A

8 482253 Diode

9 04041-28 Flatwasher, 7/16-.469 x 1.75 x .25

10 04030-05 Lockwasher, 7/16" Spring

11 04102-03 Bolt, Hex Head 7/16-20 x 2-1/4" w/Patch (Kawasaki)
11 04XXX-XX Bolt, Hex Head (Briggs & Stratton)

12 483599 Electric Module

13 483642 Double Fuse Assy.

14 483629 Fuse Holder

15 48298 Fuse, 20 Amp

16 483571 Cover, Sealed Double

17 482588 Clip, Wire

18 481638 Switch, N.O.

19 04001-44 Bolt, Hex Head 1/4-20 x 1/2"

20 04020-02 Nut, 1/4-20

21 Battery

22 48029-11 Battery Cable, 27" Black

22 48029-07 Battery Cable, 18" Black (Kohler)

23 48029-13 Battery Cable, 25" Red

24 483013 Relay

25 483957 Switch, PTO - 10 Amp

26 481755 Ammeter

27 484565 Hourmeter

28 48798 Keyswitch w/Hardware

29 484200 Control Cable (Kawasaki, Kohler Choke Cable)
29 484289 Control Cable (Briggs & Stratton)

29 481662 Control Cable (Kohler Throttle Cable)
30 04021-26 Nut, Elastic Stop #10-24

31 462340 Instrument Panel w/Decal

32 04003-43 Bolt, Carriage #10-24 x 1/2"

33 48017-03 Lockwasher, 5/8" Internal

34 48017-04 Nut, Hex 5/8-32

35 483366 Key, Ignition

35 462069 Key Assembly w/Fob

36 04017-04 Bolt, Hex Head 1/4-20 x 1/2" Serrated Flange
37 484722 Wire Harness, Operator Platform -SCZ
38 425392 Bracket, Anti-Rotation

39 04117-01 Nut, FLF HH Elastic Stop 5/16-18

40 04003-04 Bolt, Carriage 5/16-18 x 1"



